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FRINSTRUCTIONS

1. W= T qieawr & =9 A ¢ [ The question paper is in the form of test booklet.

. FegiaE vl 79 Faevmars v F 597 FEa F B s § 399 qftaw Bar 13 31 Separate

Answer Bookiet |s provided for answering Objecfive type questions and Descripiive type
gquestions.

. weaE gt v ¥ Faw uw & sfee owe €, fee v a8 597 8 s = R e fasea | & s

HEI T YR A T e (3 A B, G, Dﬂﬂﬁ?ﬂﬁ?gﬁﬁﬁrmmwmmﬁwﬁ'
Tr-""l’-rli'l.r Each objective question is provided with multiple answers which inciudes one comrect
answer, Candidates have to choosa the corect answer and write (A), (B), (C) or (D) as tha case
may be, against the guestion number in the space provided in the Answer Booklst,

s s P err s AR e A s s R ss E o B e ®

ﬁ"lT 10 &1 { All objective questions camy 1 mark each, 3 descriptive type questions carry 10
marks sach and 10 marks for Hindi Grammar.

. Tl wor % o & oW T S & a W, OF gTHer & IO 57 e HTAT AT Multiple answers for g

question will be regarded as wrong answer,

W TR i IR FTH § T W T A7 a9 & # TEe A e # g g e ammiSpace

available in the Question booklet can be used for rosgh work, if required and no separale shesl
will be provided,

Titem ¥ a1 (1) wHe-TE SR o o (2) e ot & = aftee Fiftes S At s
the end of the test {1) Admit Card with photograph and (2) Question Booklet & Answer Bookist
shali be returned 1o the Invigitator.



f"'_'f; #T4T / PART- A
r A / General English
& il
¥y 1 The Chairman did not agree——-—-—-— the member’s suggestion.
/ (A} with (8] to (C) on (D) upon
2, The Policeman ran————- the thief and caught him.
(&) =fter (B} with {€) behind (D) upon
le £t worg gr phr e glven that would match with the definition.
3 One who does a thing for pleasure and not as a profession
(&) Sockalist (B) Aristocrat (C) Amateur (D} Artist
4, Such a large number thot connot be counted
(&) Remarkahle (8] Uncountable (C) Appreciable {D) Incomparable

5. A dramag thot ends in sarmow
(A} Melodrama {B) Parody (C) Comedy (D) Tragedy

g, out @

B. Mary was not hungry, 50 she -————-anything.

[A] has not eaten (8] did not eat {C} had not eaten (D] may not eat
F Don't worry about the exam. | am sure, you-——-,
{A) would pass {B) shall pass (C) will pass (D) may pass
g The =seseee——af evalution was put forward by Darwin.
(A} Process (B} Theary {C} Paper (D) Factor
3 war g out of the given tha the meaning of the key word given In
the beginning.
=5 ILLEGIBLE
[A] not legal (B} that cannot be read
{C) very low (D) against Rule
10, UNANIMOUS
" {&) objectionable |B) acceptable to all (C) very famous (D) well defined
A
11 DRAMATIST
{A} one who loves drama {B) one who acts in a drama
(C] one wha writes drama (D) one who reads drama
Give the correct order of words and phrases to lorm 3 meaningful sentance.
i 8 {P} this house Q) when (R} was (S} built
(A) PORS (8) QRSP (C} RSQP (D} QRPS
13. {P] happen Q] how (R) the accident {5} did
{A) PORS |B) O5RP () RSOP (D) QRPS
14. [P} since (1) we met (R} a long time |S) it is
|A) PORS (B} SRPQ {C} RGP (O] QRPE



Comple 1] he sultable el from the i Wi

15. There were a large aumber of ————"""" factaries in Quilon I kast century.
{a) TALE {B) TILE {C) TAIL (D) TEIL
16. | waved to Gopal, but falied to ——=—""" his attention
(A} get (@) catch [C) atkract (D) inwite
i7. When | am tired, | enjoy e eeeemeee tEEVASIEN
(&) watching (B) seeing (C) listening 1) pbserving
john said the switch was dangerous gnd—s———-me not to touch it.
(F:A] suggested |8 recommended {C) warned (o) threatemad

Ence

19, The mountain i§ 50 high that none con chirl it

(&) The mountain is toa high that nane can climb it.
() The mountain is too high to climb.
(C) The maountain |s oo high to climb nane.

(D) The mountain is 00 high to none can climb iU

BT AL r i ich

20, The noise of the traffic kept me owrake.

(A} | remained swake by the noise of the traffic.
(8] | was kept waking by the noise of the traffic.
(C) | was kept awake by the noise of the traffic,

(D) The traffic kept me awake by the noise.

§T97 / PART-B
FeT=g T AR Al &xFan / General knowledge & Reasoning Ability

11, ﬁmﬁﬁﬁﬂﬂﬁﬁkﬁ%ﬁﬂﬂﬁﬁﬂmﬂ:ﬂmﬂuﬁﬁtnmmﬁm
a liquid state in &

following metals is found int rdinary temperature?

Ay AT Magnesium By T Mercury

£, T/ Sodium 0y T/ Potassium &
i 8 Htx of@ Had 4% TE , I The largest planet of the soiar SYSTEM 15 niiims

o TR Mercury (B Y/ Venus

€ qeEfEarth (0 WA Jupiter
23, Fow wifer TaEE 3 | World Peace Day IS s

oA IrpET/October 02 8 Fova/september 21

) FaTEe/ August 12 (D) ST duly 01

54, TOR FUET e e ™ ward # & 7/ Which of the following food materials has highest
proteln content 7

i FEMK (8 F51/Eg8 (©y AT Meat |0y FEwEl/Fish
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J,p'f" AnrerafEame & e fran f 7/ whe composed SHRIRAMACHARITAMAANAS ?
-‘f &y FREET# OIOT T/ Siyaram Sharan Gupta (B HIETH/Surdas

{C) TFEE Kabirdas (D) TREETHT FEETETE/ Goswami Tulsidas
6. HUTE & WAl O T T E 7/ What is the Parliament of Nepal called 7

i aTATA™r wEy/Pratinidhi Sabha [B) HEL/Sansad

(€ B Senate {Dy ErIE/Diet

27.  OEA U7 U HEEE ORAT Tafes @l W 3/ The first persan wha landed on the moon

oy T TR Yurl Gagarin (8, Fre 3FEET el Amstrong
i€} TEUAT TTIET/ Kalpana Chawla (v g fafeares/sunita Williams

8. NWH W uuA FEEa 3gE #9977 Whe was the first Election Commissioner of India?

oy T T PI9E/T N Seshan (B PR #e/Sukumar Sen
€y &1 v IEREN N Gadgl iy ® TE EUE/V S Sampat

« W 9. Fav v o0 TUF & 9 Where is Jontar Mantar located ?
{A) Bweli/Delhi (B) 3[FE/ Mumbai (Cy PG Kolkata  (Dy Fe=t/Chennai
0. ¥RA & wRuE & e sl o dgamd R A TR anr o B oo @

WA By H T F T & 7 Which Article of the Constitution of India describes the
Hindi language, written In Devanagarl script, as the Official Language of Indian Union

thy HETTOE/ Article 344 (8) HEEE/ Article 343
(G Hwe/Article 342 (D) HeFEie/Article 431

31 UEH O MO O T S0 7 What will be the next term in the series 7
R T A I i i

{A) 21 (B) 22 (€) 23 {D} 20
“ 32 e mE gt § 7/ Which s the odd lem ?

[A) <> (8| Q c) ] D’

33 IE W fEae o @ e ¥ 2 How many squares are there in the figure ?

{A] 12 (B} 13 {C} 20 {D) 22
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Rl e A # HANDSOME B KDQGVAPH TET Ftar B SEY smar @ SMART

&3 TAET ST 7/ HANDSOME s written as KDQGVRPH in some code language. How will §
SMART written in the same language 7

1) WUDPY (8] VPDUW [C) XVEQW 1D} YWFRX
ATel WIS T @90 7/ What will be the next shape?
S
T - 3 - 3 l | 5
—_—
ey =) l () )] T
—
#T9T / PART-C
IERITTOTE / Arithmetic

Ay, ol AT RN fr 5w @ O s0 oW B 9 B1E ORd ISR IE @ O Ry
AT 7 The sum total of the age of Ramesh, Ramani and Ranjini is 80 years. What was the total of
their age three years ago 7

(A) 71 Tdfyears (B) 81 T4/ years IC) 74 T years (D} 77 T/ years
FeEfEs # oy 10 Frms o397 & 7/ 9.8 x 10" is equal to which of the following ?
(A) 980 (B} 98000 [C) SBOD (D) S9E00O0

fomlt ot 3 65 % SHEEN WA # IO g 60 % SR & ST gr v 30
et fawat & =feh A gui el sefiEart @ ofdeE & 2/ in an Examination, 65%
candidates passed in Mathematics, 0% passed in Physics and 30% falled In both. What is the

percentage of passed candidates 7

(A) 50% [B) 55% {C) 45% (D) 40%

et wsa et 1 T s e A EFH 1 v efr g v s @ wdr B
How many indivisible numbers are there, between 1 and 15 {which are greater than 1 and less

than 15} 7
(A) 3 (8) 4 {€h 5 (D} &

et de & 132 & AT &9 O HTRW 29 997 T 12 3ET § 8 wE &=
BT 7 / Certain number when divided by 132, the guotient is 29 and remainder is 12. Which
will be the number ?

(A) 2840 (8] 4820 (C} 3840 (D) 3838

W A AF FTE F 90 km 7 S # 15 O @ #aHa da §) ofE aw 36
# AR o R A wt w=h oAt R 2 B mE AR WW A Bl @

H'E‘ﬂﬂﬂ ? ) A car takes 1.5 howrs to travel a distance of 90 km from the starting point. How far
would it be from the starting point after the next 2,25 hours, if It maintains the same speed and
direction 7

[A) 135 km {B)] 225 km (€] 300 km (D) 185 km

gt
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47

48

43

T S faten & HUA HER 1 oW Qe & # 76 % [ES 49 &7 MY HER A
72 geah o9 W § o swe R geerd @91 7/ A book seller sold 76% of the total

number of books in his shop. f 72 books are now left in the shop, how many books did he
sell 7

[A) 720 G/ books {B) 760 TEAH/books

[€) 228 EeTh/books [0} 300 & /books
6.5x0.065 TUEK & | / 6.5x0.065 is equal to_...........

(A} 422.5 (8) 42.25 () 4.225 |D) D.4225

ARYF 124+5=1342, Q=

TR (8) 8 ic) 7 (D) &

T ST O CATE T O & OF SEW FEee e 3 # I 7/ f the diameter
of a sphere Is habved, in which ratio its volume will be reduced 7

[A) 2:1 (8] 4:1 (C] 821 (D) &1

of% 6 7=k a1 o 20 BT F qn o woa € A7 of o s Ak e Rm A gm
T HiFT 7/ If 6 boys can complete a piece of work in 20 days, in how many days B boys can
complete the same work 7

(A) 15 (B} 12 IC} B D) 9

afy 4 g @ HFm 3 HA & ApT & aua b vw gt o g e B A o
HA @ AT T B 7/ If the price of 4 chairs is equal to the price of 3 tables and the price
of one chair is T 48/- what will be the price of one table ?

(A] 58 (8) 60 [C) 68 (O} 64

e o T R WURYT s &7 & § 20 W A giET § Sedl 7/ in which rate of
simple interest an amount of money will be doubled in 20 years 7

(A} 4% {B) 5% (C) 6% (D) 4.5%

UF gEEER A U fEwla 2 6/ A dMaT 20% W FEET TSR @ oW Aew e

! 1/ A shopkeeper earns 20% profit by selling a toy at the rate of ¥ §/-, What Is the purchase
price of the toy 7

(AT 4/ {B) T 5/- )T &/)- (D) T 4.5/-

afr frelt ot & sy Y 01 ole e & @ 36 o0 & R o2zs Al we
a1 f& g9 3 f Movemnber 01 of a year is Saturday, December 25 of the same year
willbe ....ccueus

(] TEaR /) Sunday (B) erfevam / Saturday
(C) SRR / Friday () TEE |/ Thursday



al.

52.

53,

a5,

56.

57.

58.

#TT / PART-D
e ¥ / Computer Literacy

EataE # o T feew 59 qF I S8 B ?/Which one of the following is not

input device ¥

(&) T TEH/Keyboard (8] FTEH/Mouse
(c) Taweg/Printer (D) &AA ¥ @ 7 /None of these

Erratatag & it Bees dvedas #F ¥ 2/Which one of the following is an
operating system software 7

(&) &y Frdre/LEAP Office (8) ¥ v uH OfEEUR/ISM Publisher
(C) Tarsers/Linux (D) Tt & wirg A/ None of these

PrerratEs & frud Menw eEEr @NE HUTEc) §9 § WO & 7/ Which one of

the following has more storage capacity 7
(A} & & #r/DvD i) & #r fr/vcD
(€} wr e/ Hard Disk (D) wwTt BFE/Floppy Disk >

Rees @ GelieE GRT T4 O S T AR G & @ e ool 5
=7 & BeaafEs # & frmgw vaer B S 2/ which one of the following can be
used to toggle between English and the Indian languages when the system is Unicode enabled 7

{A) CTRL+ALT (B) SHIFT+ALT (C}) SHIFT4DEL (D) CTRL+DEL

R e Sl @ e o & e feRiie # @ R s e e
AT &7/ Which one of the following can be used to select the whale document ?

(&) CTRL+A {B) SHIFT+A (C} ALT+C (D) CTRL+D
v ow aE & 5w B & A e eeds o dst o gew R o W ¥ ¥

Under which menu in M5 Word, Header and Footer can be provided to a document 7

{A) sFEE/Insert (8) U= & T3T/Page Layout
(C) =/ view (D) P/ Review R

sl TR & Ton Erefafm & @ olq @ et ow fome @ @ A0S Fugy g ?
Which one of the fallowing is the most suitable keyboard layout for Devanagari script ?

(A) saftsz /INSCRIPT (B) #fF whafes/Easy Phonetic
|c) wrtfees Efau/Phonetic English (D) =T set YRE/ Typewriter Remington

Preatating ff Ft3 ez - g w6 & 7/ Which one of the following is not a Ward
Processort

(A) T UEEE/\Word Perfect (B) #EH TEUT/Lotus WordPro
ic) Taeere e g Windows XP (o) 3o 3T TEET/open Office Writer



HET O AT FT £ 7/ What does MANTRA refer o ?
() FEET FEEE & R #aedt g g A Sieeaat [
&n Application Software used by Ministries for Office Automatian
(8) TF HITUF HeqaE T / A Machine Aided Translation Tool
[c) oftees mizat & woafee ARt & T 0@ HETET Sreaa

An Application Software used for automatic maintenance of transport venicias

(D) 379 ¥ 1§ 5 / None of these
otm w wie e (B 7 3 o a9 & A 39 # #T0 sugw &

Which font is most suitable to prepare bilingual (Kindi & English) documents ?

(A) DVATT.... (B) DVBTT.... {C) DVOT.... (D) DVTT...EN
PART-E
TIERoTeAS WA [ Descriptive Type Questions
Frefatas Bedt & & e oo @ Py @ 110 3,
(i} & gvew ih W & FU R iy WETETT

s R & A R @ e @ v ) Rew e & avd @ g wos R &
ToTE (AT S @ R w0 Rad o & aEoes gt e o3
ﬁ‘ﬁ'q’;, 11ﬂ3‘!‘|

e

Fretafae o o s & waw 3ES S fir oo oost & sew date AR aodEm

el o fEw o AT ST £ wEr s @ fhenee dEe aWd £ SEE Fee ond B
i At v sEhr wmavam oF bR vy ol euW O i gin w9 & W am & aer A
w oitaaw w6 fel el oo O qEae @ o aRe & AT T FEoe TR @ g
et 3y i i AR e o g @ i Ele W o TR sree e e Saren
TR U AT S O, T g WS TS W 5 U Sem W S Fga it 41 )
T T A AN w O, e, Ay, Aol O oRE 3§ euw & FT A e an
i v ds o sermer fioeh W aE el dwer weww & w0 # e B
Fowa, B afit e & P sew gw e Ao & A & SEEW 25 mi # 150 ml @
P ok fgw & et o OED wRT Ew A W e B e S @ R
o e o mY ST R W e UAe & @ it ameh @ O wmw @ s ow
1 gIE o AUA & WS 9 6 A 99 O @ os oW 80 #EEA, 0 i oeg
e med & 9= e deew e @ew Ew & goEw @ enEn Een on B aw
fafe w0 @ @ @EE a8 & =9 25gm & 30w a8 Twe o

)] MO W T A § 7

i A TER Feew & g @ e oam e e

(iiiy  sfeqomr & v = R 7

(v 3rga & Jma Bl o e ¢

(v] 3w @ wee ws) @Ew o= & e oods @ o few Ao & TR S 7

7
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(i) BTt dur i 3T F BT vma o oftn

(i) e Reel M aw W g

(i) #F 9F S A gEws R

Fremfafl gt & oF = T A aahr ffe @ ¥
o) o= & A o den

M e AW

i B e

FrfafE dwmat & o wu i 2
A T 1 LI ] & W

T s & R v RiE- iz 3
i EirEary (=) T Ty Gorin ity e



